H & 0l & AHS B Ml A

20238 =0ila eI FRMAS0 2022-12-30 10:44:41

N ESE=)}
0227 ok
SAelES EER-E)
M- B SRASH) - HRAR - B2 of v e HIDE2
st 29,321,893 29,245,841 76,052
= 1,114,661
[ 4,104,514
Jl 1,662,840
== 2,070,679
Al 20,369,199
&l & oty 12,438,442 12,367,462 70,980
= 565,671
s 3,585,874
== 995,147
Al 7,291,750
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201 er23| 82,380 97,609 N15,229
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< 10,390
Al 24,242
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= 1,890
Al 4,410
307 gl2to| & 6,300 7,000 AT700
=S 1,890
Al 4,410
04 QIZIHAIAIH E X 6,300 7,000 AT700
OHSAIZE2 43 OIHE(ZSHEAL)
6,300,000 6,300
< 1,890
Al 4,410
HSAIE SHHSH XA (EX) 7,400 7,400 0
= 3,700
Al 3,700
301 eEtE N = 7,400 7,400 0
= 3,700
Al 3,700
4IE2d=S 7,400 7,400 0
OHSAE SHHSH K& A
7,400,000 7,400
[ 3,700
Al 3,700
SHANEaEH 2 1,373,000 1,471,000 88,000
201 er23| 1,022,000 1,220,000 198,000
01 At2teltl 1,022,000 1,220,000 198,000
O eS| 1,022,000
OZNAMEASH MH 200,000,000 200,000
OCZMAEEA E22 M
4,000,000& 4,000
OZMAMNELSH SF & IHUE AEH M
& 10,000,000 10,000
OZNAMEESH B € etde=2
200,000,000& 200,000
OTNAMNEAZA(BHMER) B EE
8,000,000& 8,000
O2gUH A S 600,000,000& 600,000
301 EtE N = 351,000 251,000 100,000
4Bt 2 a3 351,000 251,000 100,000
O3 0l= HIOI% OIHE
200,000,000 200,000
OZHANEgERA FERSHD L4
1,000,000 1,000
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Al 17,500
307 @I2t0| & 50,000 50,000 0
[ 25,000
= 7,500
Al 17,500
02 2IZHBYAIHE A 50,000 50,000 0
Ol=)1g |6 Mg 50,000,000 50,000
[ 25,000
= 7,500
Al 17,500
OISJIY DS (EX) 50,000 50,000 0
S 25,000
Al 25,000
307 @12t01 & 50,000 50,000 0
== 25,000
Al 25,000
02 B AAHE L 50,000 50,000 0
O0SJ1e 13t A 50,000,000 50,000
< 25,000
Al 25,000
02012 AIRE XIFAE(EX) 68,040 73,800 A5,760
= 31,140




SN ZHEED
A Ilmmﬂlg*éﬂ =
Sl XGAENE L XISHME S (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 36,900
307 gl2tol & 68,040 73,800 A5, 760
=S 31,140
Al 36,900
02 QA LAEE X 68,040 73,800 A5,760
00212 AR XIE At
68,040,000 68,040
< 31,140
Al 36,900
ABIEE2 2 AFIHEHl S ARIRDIY |4 (SH1)( 28,600 35,000 26,400
BX)
= 20,000
S 3,440
Al 5,160
307 elztol & 28,600 35,000 26,400
= 20,000
& 3,440
Al 5,160
02 B HAHE L 28,600 35,000 26,400
O(UIHDAMRIED | AFZOHZH] X2 AL
28,600,000 28,600
= 20,000
== 3,440
Al 5,160
ABIEEE R AIZINEHl S MEIEDIY SH(IS)( 10,000 10,000 0
wx)
= 7,500
& 750
Al 1,750
307 glztol & 10,000 10,000 0
s 7,500
s 750
Al 1,750
02 LB AANHEE 10,000 10,000 0
OARIEDIY ARIE2EE XY ALY
10,000,000 10,000
= 7,500
=S 750
Al 1,750
AR SH (LIRS, 4E)(ZE)(EX) 414,600 374,000 40,600
= 311,000
=S 31,000
Al 72,600
307 @12t01 & 414,600 374,000 40,600

17 -




2A:

M SN

33 NGFMadst =8
Sl XGAENE L XISHME S (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 311,000
=S 31,000
Al 72,600
02 QI AHANEER 414,600 374,000 40,600
O(0IHDAIEIZIIY AR2IHE M
414,600,000 414,600
= 311,000
= 31,000
Al 72,600
ABIEBH A AL XA (EX) 332,856 360,600 N2T, 744
= 175,140
= 47,315
Al 110,401
307 @120l & 332,856 330,600 2,25
[ 175,140
= 47,315
Al 110,401
02 2IZHBYAIAE & 332,856 330,600 2,25
OASIHZH #E A X AF(1248])
313,632,000 313,632
[ 174,240
= 41,818
Al 97,574
OAIEHZH #E AL X@ A (QHIEl
g) 1,800,000& 1,800
[ 900
= 270
Al 630
OAI AN #E A X Al (RSH])
17,424,000 17,424
S 5,227
Al 12,197
HEOAY A XEE AMEIEBMHE(EX) 19,550 21,600 2,050
= 5,865
== 4,105
Al 9,580
201 2= 19,550 21,600 2,050
= 5,865
=S 4,105
Al 9,580
01 At 2|l 19,550 21,600 22,050
OXBIIHAL UES QIMES Al
19,550,000 19,550
= 5,865




=M ZMYSD

33 NGFMadst =8
ol NHAZNS L KA A3 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 4,106
Al 9,580
SHIAAZO JtEST NA(BE) 420,000 485,616 ~35,616
= 126,000
Al 294,000
301 EtE NS 420,000 455,616 N35,616
=S 126,000
Al 294,000
14 0Bt 2as 420,000 455,616 A35,616
O NS ez X
420,000,000 420,000
< 126,000
Al 294,000
AYSUSH (et RASH)IEXE (EX) 47,000 39,000 8,000
= 14,100
Al 32,900
307 el2to| & 47,000 39,000 8,000
= 14,100
Al 32,900
02 QB AANEE R 47,000 39,000 8,000
OL4ZSH(cetRASH) Y X
47,000,000 47,000
[ 14,100
Al 32,900
aaBel S5 0IxEA 750,000 270,000 480,000
306 £= 500,000 200,000 300,000
01 2d= 500,000 200,000 300,000
OA4E0 SP2E BB (HSMSEET
= 500,000,000& 500,000
307 @120l & 250,000 70,000 180,000
08 OIXt2d=S 250,000 70,000 180,000
O 40 SHES 0IXNEH
250,000,000 250,000
AR BN SUREEZE = 9,000 0 9,000
405 AHaHE = 9,000 0 9,000
01 It =S F = 9,000 0 9,000
OMBHBM SUXEEH P=(257Y
s) 9,000,000& 9,000
AR ZBHM SURNFEE A=ALY 70,000 0 70,000
=S 21,000
Al 49,000
101 ©1AH| 70,000 0 70,000
< 21,000
Al 49,000




SN ZHEED
A Ilmmﬂlg*éﬂ =
Sl XGAENE L XISHME S (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
M JIZtHZ2 S E 70,000 0 70,000
OMBIHEHM S LA
70,000,000& 70,000
= 21,000
Al 49,000
HIUX otd & 55 A 4,278,675 5,938,023 1,659,348
= 523,125
Il 1,662,840
= 231,314
Al 1,861,3%
EX0 OlHAlI2e 4,278,675 5,938,023 A 1,659,348
= 523,125
Jl 1,662,840
s 231,314
Al 1,861,3%
fiuXi2tel € ZADIA B35 8,172 10,172 /2,000
201 =3 6,400 6,400 0
01 At22t2l] 6,400 6,400 0
SRR 1] 4,400
ONEEEIRCCES] 20,0002 122 2,400
ONR I~ EES M 1,000, 0002 1,000
ONXIZS EES KA
1,000,000& 1,000
o=l 2,000
OXdze| =8 2,000,000& 2,000
202 04l 1,772 1,772
01 =LHOHI 1,772 1,772
OXtE e g2 1,772,000 1,772
HIUXIZ & At (2X) 6,400 6,400 0
== 3,200
Al 3,200
201 =3 4,400 4,400 0
< 2,200
Al 2,200
01 At22t2lt] 4,400 4,400 0
2et=-ZH| 4,400
OOILIN FOus ¥ 22
4,400,000 4,400
= 2,200
Al 2,200
202 04| 2,000 2,000 0
[ 1,000
Al 1,000




2A:
X XH -
o e

=aak

SEHC ol X2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
04 =NI2t01H] 2,000 2,000 0
OXSNUXIAIE &R At
2,000,000& 2,000
= 1,000
Al 1,000
AIRH2E 01l LA K 4,392 4,392 0
201 et 3| 3,392 3,392
01 AtR2tc|Hl 3,392 3,392
O et=EZH 1,412
OFIIAY YRET L 2AZ MA HIZ S
800,000 800
Ogt=8me AMYUUX At =&
612,000& 612
O=3=+4 500
ooluXI?I&s =& 500,000 500
O=g| 1,480
O&IIANG HE2FA 1,480,000 1,480
202 O4H| 1,000 1,000
01 2L AHI 1,000 1,000
OUHUHXIAMNG SR 1,000,000& 1,000
IIAANEAEEX ESAL(EX) 25,000 22,500 2,500
== 7,500
Al 17,500
403 XM SAH=01H 25,000 22,500 2,500
= 7,500
Al 17,500
02 SISOt =& P E A I 25,000 22,500 2,500
OFSHS AN B2 At
25,000,000 25,000
= 7,500
Al 17,500
ATHAHOIA X FEHXRAIS (EX) 214,504 31,060 183,444
[ 39,220
Al 175,284
402 QI2F X201 & 214,504 31,060 183,444
= 39,220
Al 175,284
02 QI X2 AL EE(OIETHE) 214,504 31,060 183,444
OLTHAUHA ==X
214,504,000& 214,504
= 39,220
Al 175,284
FHAAS AUHNSSEH A (2X) 6,650 6,650 0
[ 2,660
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2A:
X XH -
o e

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 3,990
402 2IZtA=01d 6,650 6,650 0
=S 2,660
Al 3,990
03 2IZ+2AEAIZHI 6,650 6,650 0
OFSAHS WX SEHH A
6.,650,000& 6,650
< 2,660
Al 3,990
FAHES MHSSSMAH(EX) 70,100 240,000 £169,900
Jl 48,000
Al 22,100
401 AIZHIX S0HH 70,100 240,000 169,900
Jl 48,000
Al 22,100
01 AlZ28| 70,100 240,000 A169,900
OFESHN AR(HAHS HIHTI=X)
64,700,000 64,700
7l 45,300
Al 19,400
ONESSSY AR(SXAE HUXISX)
5,400,000& 5,400
) 2,700
Al 2,700
LPGEI! AMEIt7 AIEIJHA At (EX) 146,250 20,000 126,250
= 73,125
= 21,937
Al 51,188
403 MR HSAHE01H 146,250 20,000 126,250
= 73,125
= 21,937
Al 51,188
02 SISOt = A P E A I 146,250 20,000 126,250
OLPGEI] ALEIE AIEIHE ArE
146,250,000 146,250
= 73,125
= 21,937
Al 51,188
ATHMOIH X ESEXAAMSE (EX) 2,984,551 4,568,509 N 1,584,044
) 1,614,840
Al 1,369,711
402 2I2F X201 & 2,984,551 4,568,595 1,584,044
Il 1,614,840
Al 1,369,711




2A:
X XH -
o e

=aak

SEHC ol X2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 2IZHRAETAIHHI 2,984,551 4,568,595 A 1,584,044
O THAUUHA =58 NE AL
2,984,551,000& 2,984,551
Jl 1,614,840
Al 1,369,711
=Xt B8 2 ASHA SXAMG(EX) 690,000 620,500 69,500
= 450,000
= 120,000
Al 120,000
402 2IZtA=01d 690,000 620,500 69,500
= 450,000
= 120,000
Al 120,000
02 PIHH2 AN 2 E (01T ) 690,000 620,500 69,500
O+452% 22 Al
34,500,000 *20CH 690,000
= 450,000
= 120,000
Al 120,000
SAIDtA DISSXS ZXIH X&(EX) 122,656 407,754 A285,098
= 36,797
Al 85,859
402 2I2FX=01& 122,656 407,754 A285,098
s 36,797
Al 85,859
03 2IZHAETAIHHI 122,656 0 122,656
O ADMA DIEsXS Sstiat EX1 A
122,656,000 122,656
& 36,797
Al 85,859
d2siits 29 98,550 108,822 A10,272
== 16,888
Al 81,662
2340t =2& 98,550 108,822 10,272
< 16,888
Al 81,662
d=23510ls g4t =8 26,650 30,650 24,000
201 er23 | 19,900 23,900 24,000
2 s5=4g4l 15,000 19,000 24,000
OZ=230t= EHO0IN |RAE+
15,000,000& 15,000
03 A= 4,900 4,900 0
OZE30IE G OIfIE(FA &)
900,000& 900
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SN BHTED
M ZEs0E 2%
tel: Z2siE 2Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXEH=HN H2302 2HAHEH B2
2 1,000,000 1,000
OZ 23l0t= Festa &AL =8
3,000,000 3,000
301 22N = 6,750 6,750
11 AALREIXIES 6,750 6,750
OZE30IE XNEX DNESHAL 24
3,750,000 3,750
OZ 23012 Festa AL I
3,000,000& 3,000
ALS0e Z2Ogaelt S4(EX) 71,900 78,172 6,272
s 16,888
Al 55,012
307 @I2t01 & 71,900 78,172 6,272
[ 16,888
Al 55,012
02 B HAHE L 71,900 78,172 N6,272
OEE30ts Z2Og2e|A 4
71,900,000 71,900
= 16,888
Al 55,012
HH2LIHI(BHE=D) 38,400 37,200 1,200
Jl2ZdsI (N s 38,400 37,200 1,200
JlEZe(FMas) 38,400 37,200 1,200
202 04| 30,000 28,800 1,200
01 2LHoIH 30,000 28,800 1,200
OSEH0HI 100,000 x25F « 122 30,000
203 HF=H| 8,400 8,400
01 D[22 HRFa| 3,600 3,600
OB =KX= 3,600,000& 3,600
MU FA2SHIFII 4,800 4,800 0
OB NS 400,000 128 4,800
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